
Exercises (solution)
1. 2710

12110

2. 225516

11EC316

The number 23310 is equal to the following:
1. 101010012
2. 110010012

3. 111110012

4. 111010012 �

The number 2338 is equal to the following:
1. 15010

2. 16410

3. 15510 �

4. 15910



Exercises (solution)
1. 2710 � 16+11�0x1b �16+8+2+1�110112

12110 � 64+32+16+8+1�11110012 �0111 1001 �0x79
2. 225516 �0010 0010 0101 0101 �0 010 001 001 010 101 �211258

11EC316 �0001 0001 1110 1100 0011 � 00 010 001 111 011 000 
011 �2173038

The number 23310 is equal to the following:
1. 101010012
2. 110010012
3. 111110012
4. 111010012 �

The number 2338 is equal to the following:
1. 15010
2. 16410
3. 15510 �

4. 15910


